24173

B.Tech. 4th Semester (ME)
Examination, May-2016
STEAMAND POWER GENERATION
Paper-ME-210-F

Time allowed : 3 hours] [Maximum marks : 100

Note : Attempt any five questions in total, at least one
question from each section. Question No. 1 is
compulsory. Each question carries equal marks
(20 marks).

1. Explain the following :

(@)
()
(c)
(d
(e)
H

©®
(h)

@)
0

2. (a

Purpose of steam generator

Impulse turbine

Fire Tube boiler

Use of steam table

Governing of Steam turbine

Artificial Draught

Stochiometric air fuel ratio

Sources of air leakage in condenser | A

Shape of nozzle for subsonic flow of steam
Boiler Mountings. 20

Section-A .

How does Rankine cycle differ from the Carnot
cycle for a vapour ? Is the thermal efficiency of a
Rankine cycle equal to that of a Carnot cycle
operating between the same temperature limits ?
Explain in detail. 14
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